SATPREP

Assignment : Trigonometric equation

Solve each equation for -t < 0 < .

1) &=cos0
3
3) g=cos6

5) -2 -cos 8 =-2-2cos 0

7) —2tan 6 = -3tan 6

9) 1+tan(0+£)=—2—2tan(9 +£)
2 2

Name

Date

2) tan O =1

4) tan 0 = -1

7
6) 5—20056=4—cos€

8) tan O =1 + 2tan O

8
10) -4 - 3tan -460 = -4 - 3 - tan —40



1) No solution.

Answers to Assignment : Trigonometric equation

3w T
R -, 4 -
) 4 4 ) 6 6 )
6) _Z_n’ 21 7) —Jt,(),n} 8) |-
3 3
3 3
10) na__na_za_za()’E,E,_,_n
4 2 4 4 2 4

~la &~ |12

-

=g+





